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Given:

l Yi=az; + b+ Z; 1

Observe:

L1y, L2y...,Tn

Y17Y27'” 7Yn

HREL 7,

iid

Y

N(0,0%)

-
Q: gLHI =N T1,L25--+3Tn HRO Yi,Ye,--- Y,
~ /Z, — O 2 W
NS, ZOBRICHDBERIMINSAS a,b,0”° #ED
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FRBLER FHB(LER FRB(ER
KNRR
] 8.725 8.665 9.761
WRUEE (WR=1) 0.169+ 0.501 +=+ 0.166
FELONRR (BF=1) 0.240+++ 0.283 4+~ 0.069°
RF 52— (BF=1) 0.041 0.155 0.001
From 0126+ 0.144 %+ 0.128%+*
SEMNER30 (1-5) 0113+ 0.050+ 0.047+
AP REWOSE— 0.313+ 0.350 %+ 0.304
LEW 0.000 0.000 0.001
BRODLY (1-4) 0.063" 0.140%+* 0.096°*
BYE x®E=1) 0.038 0,252+ 0.107+
ANESR 0.142 0.262 0.088
F8 17.684 4+ 43.054 4+ 13.317 %+
N 907 1,068 1.155

TE) +p<l0 *p<lB **p<Ol ***p<onl
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RTDEmardE 7

> modell <- Im(Life.Exp ~ ., data=data.frame(state.x77))
> summary (modell)

Call:
Ilm(formula = Life.Exp ~ ., data = data.frame(state.x77))

Residuals:
Min 10 Median 3Q Max
-1.48895 -0.51232 -0.02747 0.57002 1.49447

Coefficients:
Estimate Std. Error t value Pr(>|t]|)

(Intercept) 7.094e+01 1.748e+00 40.586 < 2e-16 ***
Population 5.180e-05 2.919%e-05 Ly 7405 0.0832

Income -2.180e-05 2.444e-04 -0.089 0.9293

Illiteracy 3.382e-02 3.663e-01 0.092 0.9269

Murder -3.011e-01 4.662e-02 -6.459 8.68e-08 **x*
HS.Grad 4.893e-02 2.332e-02 2.098 0.0420 *

Frost -5.735e-03 3.143e-03 -1.825 0.0752

Area -7.383e-08 1.668e-06 -0.044 0.9649

Signif. codes: 0 '"**x*' Q0,001 '**' 0.01 '*' 0.05 '." 0.1 ' ' 1

Residual standard error: 0.7448 on 42 degrees of freedom
Multiple R-squared: 0.7362, Adjusted R-squared: 0.6922
F-statistic: 16.74 on 7 and 42 DF, p-value: 2.534e-10
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slope: 1.001997 intercept: 21.221174
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x <- ¢(3.8, 1

.2, 3.25)

22.55,

23.88)

res <- Ilm(y~x)

>
> y <- c¢(25.5,
>
> summary(res)

Call:
Im(formula = y ~ x)
Residuals:
1 2 3
0.4712 0.1264 -0.5977

Coefficients:
Estimate Std. Error

(Intercept) 21.2212 1.1821
X 1.0020 0.3981
Signif. codes: 0 '***x' 0.001

Residual standard error:
Multiple R-squared:
F-statistic:

> coef(res)

(Intercept) X
21.221174 1.001997
> confint(res)
2.5 % 97.5 %
(Intercept) 6.201800 36.240548
X -4.056962 6.060957

l**l

4
©

alue Pr(>|t])

7.953 0.0354 *

2.517 0.2408

0.01 '*' 0.05 '.' 0.1

0.7715 on 1 degrees of freedom
0.8636, Adjusted R-squared:
6.333 on 1 and 1 DF,

0.7273

p-value: 0.2408

> predict(res,data.frame(x=2.0),interval="confidence")

fit lwr upr
1 23.22517 16.41121 30.03913

J—

> predict(res,data.frame(x=2.0),interval="prediction")

fit lwr upr
1 23.22517 11.28649 35.16385
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T =2.75

t(1,0.05) = 12.7062

b=+ t(1,0.05)

var(b)

a +t(1,0.05)/var(a)

20a+bit1005

20a+bit1005

1 + 2.0 — )2
3 S&x
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+-3 + S )
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(2) x=5.0D0&EDydD[o 7 (C K DT A 17('{§Uh4,p55)

4.1 WITADEHEz LRy DT —%
y /\
§=61.9+4.52z Wy 7N No. | EHlkr PRy
| 1 2.2 71
E 2 4.1 81
1) 3 9.9 86
3 30F 4 1.9 72
e 5 3.4 77
75 6 2.6 73
| 7 4.2 80
e ereney e : 87 81
oy A D& A ik : Rt 20
10 3.2 74

5 4.1 AR



Bl : BOlfsZzst8E LU CHKID(BRIEZpP.43~)

(1) BB E IR (E2(fIZE1,p.49)
ftax 4.52, tJJF 61.9

(2) x=5.000 & =DyDEIRIC & BT (E2(HIF4, p.

y=4.52 x 5.0 + 61.9 = 84.5

(3) EZ 20N E DN DIRTE EMES DX EIHEE
T = 10.6 > t(8,0.05) = 2.306 THETH 3.
=f=. {E¥ELI5% . 3.53 < = < 5.51

ﬂII

(4) x=5.0D & E=DOHEO|FDOEFEX R & FBI X
(EFEZKO5% T 82.7 < 5.0a + b < 86.3 ({=%&

55)

X [a])

(E$8RI5% T 80.7 < 5.0a + b + Z < 88.3 (FHIXRI)



